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Infinite Square-Well Potential

One dimensional time-independent Schrodinger Equation

h? d?

2 () + V(@) = ()
2 d2(x)
2m  dax? = E(a)




Infinite Square-Well Potential
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Infinite Square-Well Potential

To find the value of A we normalize the wave
function over the total distance —o0 < 2 < 0.
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Substitution of the wave function vields
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Normalized Wave Function
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Infinite Square-Well Potential
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The Expectation Value

Postulate 4. For a system in a state described by a normalized
wave function ¥ , the average or expectation value of the observ-
able corresponding to A is given by
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QMO5: Postulates of Quantum Mechanics [31&1]
https://youtu.be/DZ8LFkJkGKo




The Expectation Value of Position
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The Expectation Value of Momentum
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The Expectation Value of Momentum
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The Expectation Value of Momentum
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The Expectation Value of Momentum
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The Expectation Value of Momentum
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Determine the expectation values for x, x*, p, and p* of a
particle in an infinite square well for the first excited state.

The first excited state corresponds to n = 2
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To receive notification of new video
please subscribe to our channel.

You may also let us know your comments.




